WeBWork assignment number Sec8.3 is due : 11/18/2010 at 10:30pm EST.
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The Geometric Series Ear"'l is convergent if |r| < 1 and its sum s =

1 1
The Harmonic series 2 —=14=
n

e lg,
5 .

3 . is divergent .

The Telescoping series ) (b, —b

n=1

1
The p-series Y — is convergent if p > 1 and divergentif p < 1.
P g p

The Integral Test:
Ea,, is convergent if and only if [|” f(x)dx is convergent.

The Comparison Test: Suppose both series have positive terms,
a) If Y b, is convergent and a, < b, then }_ a, is also convergent.
b) If ¥ b, is divergent and a,, > b, then ¥ a, is also divergent.

The Limit Comparison Test: Suppose Y a, and ¥ b, have positive terms.

n—oo

either both series converge or both diverge.

Note that the Integral and Comparison tests apply only to series with positive terms.

n+1) is convergent if lim b, = L and its sum s = b; —
h—yoo

The Test For Divergence: If lim a, 7 0 or does not exist, then the series Zan is divergent.
n—yo0

7% . This series is divergent if || > 1.

Suppose f is continuous, positive, decreasing function on [1,.0) and a, = f(n).

If lim 9 ¢ > 0 and finite number, then

n

Then the series
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Book Problem 7 t —e? /% -(L Y 2

A) Find f ) __M_dx_ﬁ = _.__’.c.(Enter its value if convergent ‘e | :_'____-—— - ..-’—-—* &
_2 (Sx—z) o .._-—-—'-"'_"""__ 2 ())

and DIV if divergent)  95(% '”) 5 (51- 7,) 25 (10--2) 5 (2

o 1
B) Use the integral test to determine whether e
) ¢ | L, Gi-op
is convergent or divergent?

Enter CONYV if the series is convergent and DIV if divergent.
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A) Find - gixl ﬂ/ .(Enter its value if convergent - 6!/1';/\ Y anc (th f,__ 2 i (1‘)—‘41 I)
and DIV if dwergent) ¢
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B) Determine whether E ——— is convergent or divergent.
Hn
n=1
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Enter CONV if the series is convergent and DIV if divergent.
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Book Problem 9

Each of the following statements is an attempt to show that
a given series is convergent or divergent. For each statement,
enter C (for "correct”) if the argument is valid, or enter I (for
“incorrect”) if any part of the argument is flawed. (Note: if the

conclusion is true but the argument that led to it was wrong, you
must enter 1.)

1

QI. Foralln > 1, ———
ﬂ+n+6<

1 1
—, and the series E—
n? 2
COﬂVerges.

. ) : 1
So by the Comparison Test, the series ET_’,___
n *

n+6
converges.

’ 1
;2. For all n > 3, o ST and the series Zn_z con-
verges. o
1

'So by the Comparison Test, the series Z
verges.

con-
nt—6

? 1 1 i 1
CL3. For all n > 1, s > —, and the series Z— di-
n H

. verges. "
vn+1

R

di-

So by the Comparison Test, the series )
verges.
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Book Problem 11

Select the FIRST correct answer:

A. Divergent harmonic series
B. Divergent geometric series
C. Convergent geometric series
D. Divergent p-series

E. Convergent p-series
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Book Problem 12

Enter CONV if the given series converges or DIV if it di-@pv‘ ((_g P (
verges. P
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B) Determine whether E Tn%e™ is convergent or divergent
=1 T

Enter CONV if series ins convergent, DIV if series is divergent, - :;‘
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Book Problem 15

Select the FIRST correct reason why the given series di-
verges. '

g_l/_h dlv.

A. Divergent p-series
B. Divergent geometric series
C. Comparison with a divergent p-series g‘ ’__&“li___ih__ > s
D. Diverges because the terms don’t have limit zero N “h ,
E. Integral test . .
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Book Problem 16

Use the limit comparison test with a p-series to determine
whether the following series are convergent or divergent. Enter
CONV for convergent, DIV for divergent , and the value of p.
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Book Problem 17 1. A
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Select the FIRST correct answer;

| 5 4 ¢ W
A. Convergent by comparison with a geometric series £ 471 s fﬁ =4 }ﬂ ’:77 /
B. Convergent by comparison with a p-series !
C. Convergent by the integral test
D. Divergent by comparison with a geometric series . 9. B :
E. Divergent by comparison with a p-series 9, l4+5wnmN < — 4(_ 4. Conw, ‘3*1(’/“.—
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Book Problem 19

Select the FIRST correct answer:

i J
5.4 B

50 16 (mdnscon Wik Comipiin,

s Z L oG yea

A. Convergent by comparison with a geometric series W .
g. gonvergent by limit comparison with a geometric series b ¢ (W == éjs f_
. Divergent by comparison with a geometric series 61
D. %Vergent by limit comparison with ageometrlc series A "?4"‘\ & h i — fl/h’ i— = l Z O
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Book Problem 21

Consider the three series
1 1 1
Anz;t'; Bn:_\f—ﬁ: Cn F,ﬁ
For each of the series below, enter the letter (A,B, or C) of the
series above that it can be compared to with the Limit Compar-
ison Test.
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Select the FIRST correct answer: }p — 3/ =7 '
-
A. Convergent by comparison with a p-series _
B. C9nvergent by limit comparison with a p-series 9 ’/-}1-:__.2_'_ < _‘:}I_______, Ie) W ¢ M s H‘
C. Divergent by comparison with a p-series - ) .
D. Divergent by limit comparison with a p-series ° m9_ 1 V:h/!: I ‘-{MM\S O
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Test each of the following series for convergence by ei-
ther the Comparison Test or the Limit Comparison Test. Enter
CONV if it converges or DIV if it diverges.
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Book Problem 5

Match each of the following series with the correct statement:

A. The series is absolutely convergent. . A & W.\ﬁ\ e i -\( — 7
C. The series is conditionally convergent. ﬂ;l @rw
e

D. The series diverges. W b ()C,w
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Book Problem 7
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Match each of the following series with the correct statement:

A. The series is convergent by the Alternating Series Test. _ . - L aw e )
(o kb Camse G b=, ety

B. The series is divergent by the Test for Divergence. xﬁ P
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error < 0.0005.

v, o s =41
e e " § by 9/ Gt
A:__B, Zl n]‘ L P
= pan+3 ' 4 .
ﬁ——4- 2(_1) ) Y ‘@I’IM _ﬂ_fh.i—; T i '-Po ',:25 //
= 6n—1 En — 1 e ]
b Inn
A' 5. Y (-1t — ; A _ . )
' ngl( AR e”w‘ é,ﬁ’x'/’ew‘“f’)_’_: & JM#QW ;W6’C/L@cu¢4§((
l ” i
J3.ap UNCC1242/EssentialCalculus-Stewart-Sec8.4.9.pg 5(9 &Lé/‘t ft’”l ;5 éj =5 - 3 < D
Book Problem 9 =
Y s v 3 g 5 ¢
How many terms of the series do we need to add in order to { /_'0 5% 8 0__'5 + 052 55 _ 0S5 up S5 _ N
find the sum to the indicated accuracy? M=l M fl i ?,‘l 32 / ¢/
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Note: Enter the smallest possible integer.
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